
1 Goflos ;ldlt

Goflos ;ldlt Joj:yfkg 300000

2 s[lif 

s[lif ljsf; tkm{ 1500000

3 lzIff

lzIff ljsf; tkm{ 2000000

4 :jf:Yo

cf}ifwL vl/b tyf jflif{s ;ldIff uf]i7L 1100000 ;+zf]lwt

:jf:Yo :jod\;]ljsf eQf 432000 ;+zf]lwt

5 kz' ljsf; 600000

kz' ljsf; tkm{

6 vfg]kfgL 700000

7 dlxnf tyf jfnjflnsf ;+zf]lwt

dlxnf tyf jfnjflnsf sfo{qmd tkm{ 500000

8 cGo sfo{qmd

nfx r'8f agfpg], l;nfO{ s6fO{, 200000

lzIfsx?nfO{ sDKo'6/ tflnd 250000

sf]lru+ sIff ;+rfng, nf]s;]jf ;DalGw cled'vLs/0f 200000

s[lif ljsf; ;DalGw tflnd -df5fkfng, df6f] hfRg] 

sfo{qmd, s[ifL ;DalGw tflnd_
200000

/f]huf/L l;h{gfsf] nflu ;Lkd"ns tflnd÷cled'lvs/0f 

-8fOleu+, On]S6Ll;og, df]jfOn dd{t_
300000

dlxnf ;zlQms/0f ;DjGwL tflnd -;f+:s[lt s'k|yf, 

bx]h pgd'ng, afnljjfx, dlxnf lx+;f_
250000

ls6gf;s cf}ifwL 5g]{ sfo{qmd -nfdv'6] lgoGq0f_ 500000

hDdf 9032000

22522

s}lkmot/sdlzif{s g+=l;=g+= ufpFkflnsf :t/Lo of]hgf


